LINEAR PAIR

Two adjacent angles are a linear pair if their non common sides are opposite rays

“TWO ANGLES THAT FORM A LINE (180*)"
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1. Use the figure below. Given one angle measure, find
the other three.
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2. If <6 and <7 form a linear pair and m<6 = 106*, find
m<7.
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VERTICAL ANGLES

When two lines intersect, two pairs of vertical angles are formed. Vertical angles are not
adjacent. Vertical angles have the same measure. .
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ZAOB and £COD are vertical angles. £AQC and £BCOD are vertical angles. Vertical angles
are congruent. Congruent means they have the same measure.
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4. Name e second angle Tt each

3. 1f <1 and <2 are vertical angles and m<1 = 2x and m<2 = ‘ ‘
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234 — 4x, find m<1 and m<2.
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ADJACENT ANGLES

| Adjacent angles are two angles that have the same vertex and share one ray. They do not share

space inside the angles.

In this diagram, Z4DB is adjacent o £ZBDC.

However, ZADB is not adjacent to £4DC because
adjacent angles do not share any space inside the angle.

These two angles are not
adjacent. They share a

common ray but do not share
the same vertex.

For each diagram below, name the angle that is adjacent to it.
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SUPPLEMENTARY ANGLES
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\ Supplementary Angles /)

1. Given that <P is a supplement of <R and m<R = 36%, 2. The following angle is supplementary. Find x.
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3. <T and <S are supplementary. The measure of <T is half 4. m<A and m<B are supplementary. M<A = 2x + 16 and
the measure of <S. Find m<S. m<B = 3x+ 14.
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COMPLEMENTATY ANGLES

23°

‘Complementary Angles
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find m<C.

1. Given that <A is a complement of <C and m<A = 47%,

2. The following angle is complementary. Find x.
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3. <W and <Z are complementary. The measure of <Z is
five times the measure of <W. Find m<W.
e hine wnie

L “il

m<A: m<B
Iy VoY Q:j;}s\ eSS (,:é t’_gx ok § R 4
i ey
‘."éw- oo i (SR 3 5 {5 ?
B " i Ly o
L% %:,:_‘- -;; o ‘-‘J;
J .

4. m<A and m<B are complementary. M<A = 7x + 1 and
m<B=5x~-7.

Find x;




